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B.Sc. DEGREE (C.B.C.S.S.) EXAMINATION, OCTOBER 2015
Fifth Semester 
Model Questions
Core course ENVIRONMENTAL SCIENCE AND ECOTOURISM
(Common for B.Sc. Botany Model I, Model II and B.Sc. Biotechnology and Botany (Double main) Programmes)
(2013 admissions)
Time: Three Hours						Maximum marks: 60

Part A (Short Answer Questions)
Answer all questions.
Each question carries 1 mark
1. What is symbiotic nitrogen fixation?
2. Define food web.
3. What is ecotourism?
4. What is hotspot?
5. Define ecological niche?
6. What are the different types of resources?
7. What is MFP? 
8.  What is indicated by high BOD?					(8×1=8 marks)

Part B(Brief Answer Questions)
Answer any six questions.
Each question carries 2 marks

9.  Define homeostasis in ecosystem with suitable examples
10.  Explain edge effect.
11. What is biological magnification? Give an example.
12. Write a short note on Global Warming.
13. Explain energy flow in an ecosystem.    
14. Give an account on ecological amplitude.
15. Briefly explain RET species.
16. What are the components of ecotourism?
17. Briefly explain the impacts of noise pollution.
18. Describe Water (Prevention and control of pollution) Act, 1974.(6×2=12 marks)

Part C(Problems/Derivations)
Answer any four questions.
Each question carries 4 marks

19.Write a short note on watershed management.
20.Explain the different methods of conservation of biodiversity
21.Explain the morphological and anatomical adaptations of hydrophytes.
22.Explain the methods for solid waste management. 
23.What is succession? Explain the process of xerosere.
24.  What are ecological pyramids? Describe with examples.	(4×4=16 marks)
Part D (Long Answer/Problem Questions)
Answer any twoquestions.
Each question carries 12 marks

25. Explain with suitable examples the causes of biodiversity loss.
26. Explain the ecotourism resources in Kerala. Describe the positive and negative impacts of ecotourism.
27. What is biogeochemical cycle? Explain any one with diagrams.
28. What are the causes of water pollution? How bit can be controlled	(2×12=24 marks)
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